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1. HEARGHIE:

© HIFEAR:

FREXZ) 0.1g HAFEAR IR A, IO ImL 28, #HA7UKIBAI3%, 12000rpm, 4°C
B IS0 10min, B IS WA .
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(i) Eimisas, AHRBaEE/MmnsE (10: 2B6R (mL) % 500~1000: 1 BIELBIITIREY.
@ WIARFEA: B PIRARFEAR BB, 25 VA ) 8500 J5 B i A
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HEL), MKTH VI WRNRAAREFHITE.
SEMNEABSHEALE, WAER—MEARB SR (B 7uL #A+700uL ZK58K); R
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. ERITE:
1. AR E
TC(ng/g H#E)=(C FrifExV2) xMrx(A ME-A 75 H)A brifE-A 7 H)+(WxV1+V) xD
=1998.7x(A M E-A 75 F)~(A brifE-A =) ~WxD
2. RMEET A
TC(ng/10* cell)=(C FrifExV2) x(A ME-A == F)(A hrifE-A 7 F)+(500xV1+V) xD
=4x(A M5E-A 25 H)+A frifE-A 2 H) xD
3. Witk TC S EIFHE.
TC(ug/mL)=(C Fri#fExV2) xMrx(A Ml E-A 75 F)+(A FrifE-A 25 H)+V1xD
=1998.7x(A ME-A ¥ ) ~(A FrfE-A 2= H)xD
TC(mmol/L)=(C ###ExV2)x(A M5E-A 7 H)~A bnifE-A T H)+=V1IxD
=5.17x(A W5E-A 7 H)~A hrifE-A T H) xD

C FpifE---5.17mmol/L; Mr=386.6---H[H B /7> T &
VI1---FEARIIAAEF, 0.007mL; V2--- At IIAAEFL,  0.007mL;
V- FE B AR, ImL; D---FRRE A, AR 1
500---4HHEE, i W-—-FEARBFE LR, go




